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Abstract

I present new data from European French involving embedded polar response particles
(a.k.a. yes/no particles) in response to negative questions and develop a novel proposal
which integrates the insights of previous analyses (e.g. Holmberg in Lingua 128:31-
50, 2013; Roelofsen and Farkas in Language 91(2):359-414, 2015). The main puzzle
has to do with the interpretation of non ‘no’ (bare or followed by a clause), which may
assert its antecedent or the negation of its antecedent. It is shown that the meaning
of non-responses varies as a function of the scope of negation with respect to various
operators in its antecedent. Polar response particles in French are analyzed as the
spell-out of a Polarity head which has moved from a lower position. The various
interpretations of polar response particles are modelled as being constrained by the
interaction between the necessity of the movement of the Polarity head and a constraint
on scope preservation. The ramifications of this proposal for related phenomena (e.g.
‘low negation’ in English, N-word responses) are then discussed.
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Scope preservation
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256 J. Pasquereau

1 Introduction

This paper is about polar response particles (PRPs) in European French—that is, oui,
non, and si—and how the choice of covert clauses in their complement determines
their interpretation.! By probing the interaction of quantifiers with negation in these
covert clauses, it proposes a new analysis of these particles that builds on the insights
of previous work on yes/no particles. I propose that PRPs spell out a Polarity head,
which can have two different origins: it can be the copy of the Polarity head of the
covert clause in its complement, or it can be a covert Polarity head that has been
inserted as a last resort if there is an identity mismatch between the covert clause and
the initiative the PRP responds to.

The main puzzle is illustrated by the contrast between (1) and (2): in response to
the negative question in (1A), bare unstressed non in (1B) must signal agreement with
the questioned proposition in A, but in response to (2A) with unspecific guelqu’un
‘someone’, the same non-response cannot agree and must instead reverse the ques-
tioned proposition ‘Someone has not yet been received’.

(1) A:Est-ce qu’ ils n” ont pas encore été regus ?
is it that they NEG have NEG yet been received
‘Have they not been received yet?’
B:Je crois que non. = agreement / *reversal
I believe that no

‘I believe that they have not.’

(2) Context: A physician is surprised to be done with patient consultations earlier
than she expected. She asks her secretary:

A:Est- ce que quelqu’un n° a pas encore été recu ?
is it that someone NEG has NEG yet been received
‘Has someone not been received yet?’

B:Je crois que non. = *agreement / reversal
I believe that no

‘I believe that everyone has been received.’

The contrast can be summarized as in (3).

1. I specify European French to exclude Canadian French, which does not have the PRP si. Of course,
‘European French’ is an arbitrary label for a number of varieties.

2. I am only talking of unaccentuated non here; the reversal reading, but not the agreement reading, is
marginally possible with accentuated NON (see Sect. 3 for more detail).
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French polar response particles and neg movement 257

(3) Meaning of non in response to a negative question as a function of scope
of negation

Meaning of question Meaning of response
(—(they have not been received yet))? | agreement / *reversal (1)
(Ix(—(x has not been received yet)))? | *agreement / reversal (2)

The intuition I would like to explore is that a sentence is negative when nega-
tion is the highest scope-bearing operator, and not negative otherwise—for instance,
when negation is outscoped by a quantifier.’ Following this intuition, the interpreta-
tion of non can be characterized by the following generalization (refined in Sect. 3):
in response to a question, non conveys agreement when the question nucleus is
negative as in (1); however, when the nucleus is not negative, non reverses its polar-
ity.

In this paper I explore a way to derive this intuition about the polarity of propo-
sitions without ‘typing’ propositions as either positive or negative, thus dispensing
with positing a new representational device in the grammar. The idea is that in both
(1) and (2), non spells out an interpreted negation, but non is sensitive to whether
the nucleus of the question it responds to is itself negative or positive. In cases like
(1), this leads to there being still only one negation in the response; this is because
interpreting negation in situ or with scope over the whole proposition (i.e. the latter
corresponding to the position where non is pronounced) does not make a difference
as far as truth conditions are concerned. In (2), however, interpreting clausal negation
in situ, i.e. in the scope of unspecific quelqu’un ‘someone’, yields truth conditions
that are different from the ones corresponding to a structure where clausal negation
is interpreted where non appears, i.e. with scope over the whole proposition. In this
case—and only in this case—a covert polarity head can be inserted and realized as
non. This is why the response in (2) must contain two interpreted negations, yielding
the reverse reading.

The paper is structured as follows. In Sect. 2, I give general background on French
polar response particles, before describing the data on the interpretation of non in
Sect. 3. In these sections, two sub-puzzles are flagged (‘sub-puzzles 1 and 2’), the
solution to which will be shown to fall out from the analysis of the main puzzle. Sec-
tion 4 presents the theoretical assumptions I make about French polar response particles
and clauses, and in Sect. 5, I present the analysis of the main puzzle I described, as
well as the two sub-puzzles flagged earlier. Section 6 explores the consequences of
my analysis for related phenomena. Section 7 reviews a couple of outstanding issues
for the account proposed in this paper, and Sect. 8 concludes.

3. Roelofsen and Farkas (2015) use this intuition to define and mark discourse referents as positive or
negative.
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258 J. Pasquereau

2 Background on polar response particles in European French

Consider the three polar response particles (PRPs) in French:* oui, non, si. They are
used to respond to two types of ‘discourse initiatives’ (Roelofsen and Farkas 2015):
questions, asin (4A 1), and assertions, as in (4A2).> French PRPs can appear embedded
or not, bare (4B1/B4), accompanied by a fragment (4B2/B5), or at the periphery of a
full clause (4B3/B6).

(4) a. Discourse initiative: (question or assertion)
Al:Est- ce qu’ ils vont venir ?

uestion
is it that they go  come Q
‘Are they going to come?’
A2:Ils vont venir. .
Assertion

they go  come

“They are going to come.’

b. Response (matrix or embedded; bare, fragment-peripheral, or clause-

peripheral)
B4:Je crois que non.
B1:Non I think that no
no
‘I think that th ill
‘They will not come.’ n ,a ey
not come.

B5:Je crois que Tom non.
I think that Tom no
‘I think that Tom will
not come.’
B6:Je crois que non, ils
I think that no  they
ne vont pas venir.
NEG will NEG come
‘I think that no, they will
not come.’

B2: Tom non.

Tom no

‘Tom will not come.’

B3:Non, ils ne vont pas venir.

no they NEG will NEG come
‘No, they will not come.’

4. There are more particles that can be used in responses in French, e.g. ouais, nan, hmm-hmm, but I limit
my investigation in this paper to oui, non, si.

5. The investigation presented in this paper is limited to oui, non, si as they are used in responses to questions
and assertions. These single-word responses also have many uses where they are not obviously part of a
response to a speech act, as in (i) (see Wiltschko 2017; Pasquereau 2018).

(i) Context: You just received bad news in an email and you say: ‘Non!!!’
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French polar response particles and neg movement 259

In this paper, I illustrate my arguments with embedded PRPs® (Authier 2013; Pas-
quereau 2018) responding to questions,’ as matrix PRPs and responses to assertions

6. There are two reasons to focus on embedded PRPs. First, focussing on embedded PRPs allows us to steer
clear of higher-level discourse effects that (may) interact with the lexical semantics of the PRPs. As shown
in Pasquereau (2018), matrix PRPs have a number of uses that embedded PRPs do not have. For instance,
matrix oui can be used in response to a wh-question, as in (1B): B’s response to A’s question conveys that
B also wants to know the answer to the question asked by A—that B thinks the question asked by A is a
good question in the given situation. Note in particular that oui cannot be used out of the blue.

(i) A:Ou était Tom tout ce temps ?
where was Tom all this time

‘Where was Tom all this time?’
B:Oui !

yes

‘Yes!”

C:Et bien il faisait des courses.
and well he did  some shopping

‘Well, he was shopping.’
However, a PRP response to a wh-question cannot be embedded. Example (2) is a conversation among three
persons: A asks a wh-question, B can react to A’s question with B2 but not an embedded PRP (B1), and
finally C gives a response to the wh-question. Only B2 is a felicitous reaction to A.
(ii) A:Ou était Tom tout ce temps ?

where was Tom all this time

‘Where was Tom all this time?’

B1:#Je suis d’accord que oui. B2: Je suis d’accord
I am in_agreement that yes I am in_agreement
‘T agree ...

C:Et bien il faisait des courses.
and well he did  some shopping

“Well, he was shopping.’

Second, the fact that PRPs can be embedded makes available a series of diagnostics to probe their structure.
This is particularly useful when evaluating how well extant theories of (matrix) PRPs (Holmberg 2011;
Kramer and Rawlins 2011; Authier 2013; Krifka 2013; Roelofsen and Farkas 2015) account for the behavior
of French PRPs. For instance, the prejacent to the right of embedded clause-peripheral PRPs can be in the
subjunctive mood as in (iii) below, thus showing that the prejacent is indeed embedded under the matrix
verb (as opposed to juxtaposed at the matrix level; see Pasquereau (2018) for more detail).

(iii) J* aimerais que oui elle vienne
I like.COND that yes she come.SUBJ

‘T"d like for her to come, yes.’

7. Embedded PRPs (like matrix PRPs) can respond to assertions as well as questions, but responses to
assertions are subject to an additional restriction (see Pasquereau 2018). For instance, while both oui- and
non-responses are felicitous in response to the question in (i), only the non-response is felicitous in response
to the assertion in (ii).

(i) A. Au fait, est-ce que Marie a aimé ce livre ?
‘By the way, did Marie like this book?’

Bl:Je suis sir que oui.

I am sure that yes
‘I'm sure she did.’

B2: Je suis siir que non. (Elle s’en sert comme dessous de verre.)
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260 J. Pasquereau

pattern differently. Let me now give an overview of which PRPs can be used in the
simple cases where the discourse initiative does not contain quantifiers.

In response to a positive question, oui and non have a univocal interpretation: the
PRP oui conveys a positive answer, as in (SB1/B2), whereas non answers negatively,
as in (5B3/B4).

(5) A:Est- ce que Marie a aimé ce livre ?

is ) it that .Marie. has loved this book
‘Did Marie like this book?’

B1: Je crois que oui, elle ’a aimé. liked

I think that yes she it has
‘I think that she liked it.’

B2: Je crois que oui. ‘I think that she liked it.’
B3: Je crois que non, elle ne 1’a pas aimé. liked

I think that no she NEG it has NEG
‘I think that she didn’t like it.’

B4: Je crois que non. ‘I think that she didn’t like it.’

With questions containing a negation, things are a little bit more complicated since
French presents features of both a polarity-based system and a truth-based system
(Pope 1976).8 In a polarity-based system, particles reflect the polarity of the response
they convey regardless of the polarity of the utterance they respond to. This system
is exemplified by the use of non: non conveys a response that has negative polarity
regardless of the polarity of the question, which can be positive (5B3/B4 above) or
negative (6B 1/B2 below).

(6) A:Est- ce que Marie n° a pas aimé ce livre ?
is it that Marie NEG has NEG loved this book
‘Did Marie not like this book?’

B1: Je crois que non, elle ne 1’a pas aimé. = ‘I think that she didn’t like it.’
B2: Je crois que non. = ‘I think that she didn’t like it.’

B3: Je crois que oui, elle ne I’a pas aimé. = ‘I think that she didn’t like it.’
B4: % Je crois que oui. = ‘I think that she didn’t like it.””

(ii) A: Au fait, Marie a aimé ce livre.
‘By the way, Marie liked this book.”
B1. # Je suis sir que oui. (Elle I’a méme recommandé a son mari.)
Int. ‘T am sure that she liked it. (She even recommended it to her husband.)’
B2. Je suis stir que non. (Elle s’en sert comme dessous de verre.)
‘I am sure that she didn’t like it. (She uses it as a coaster.)’

The constraint regulating the distribution of embedded PRPs is argued in Pasquereau (2018) to be active in
response to both questions and assertions, but it so happens that it is always met in response to questions.
In order to circumvent this further complication I only present question data in this paper.

8. I use these terms to describe the uses of PRPs in French. In later sections, I analyze PRPs as actually
being ambiguous.

9. Note that the acceptability of oui in (6B4) is subject to variation (across speakers) whose parameters
need to be investigated. One possibility is that this variation stems—formally speaking—from a preference
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In a truth-based system, however, particles only encode whether the response they
convey has the same or the opposite polarity as that of the utterance they respond
to. This system is also exemplified by the use of non: non conveys disagreement
in response to a positive question (5B3/B4)!° or to a negative question (7B3/B4).
European French thus uses both systems and this makes studying the meaning of
French PRPs in response to negative questions less straightforward than studying
responses to positive questions. Thus in response to the (low) negative counterpart of
(5) in (6), oui and non both convey a (negative) agreeing answer.

(7) A: Est-ce que Marie n’a pas aimé ce livre ?
‘Did Marie not like this book?’

B1: Je crois que si. = ‘I think that she liked it.’

B2: Je crois que si, elle I’a aimé. = ‘I think that she liked it.’

B3: Je crois que non/NON, elle I’a aimé. = ‘I think that she liked it.’
B4: Je crois que *non/??NON ! = ‘I think that she liked it.”!!

To express disagreement in response to the negative question in (6), repeated in (7),
one can use the PRP si, in its bare form or clause-peripherally. Another possibility
is to use clause-peripheral non followed by a clause which contradicts the question

for non to realize agreement with a negative antecedent over oui. This possibility is further discussed in
Roelofsen and Farkas (2015). I leave a full investigation for further work. In this paper, I gloss over the
variation and only consider data from speakers who accept this response.

10. Languages with a polarity-based system, e.g. Basque and Swedish, use the same particle to give a
negative response to both positive and negative questions; in other words, the particle reflects the polarity
of the answer. The examples below are from Holmberg (2015, p. 2).

(i) A:Dricker dom inte kaffe? (Swedish)
drink  they not coffee
‘Don’t they drink coffee?’
B: Nej.
no
‘No (they don’t drink coffee).’

Languages with a truth/agreement-based system, like Japanese and Cantonese, use different particles
for a positive answer to a positive question versus a negative question. In these languages, the particles
express agreement or disagreement.

(i) A:keoi-dei m jam gaafe? (Japanese)

he/she-PL not drink coffee

‘Do they not drink coffee?’

B:Hai.

yes

“Yes (they don’t drink coffee).’
11. As the reader can see, there is a contrast between bare reversal non and clause-peripheral reversal
non in response to the negative question in (7). I assume that this contrast is an effect of ambiguity: the
problem is that bare non in response to the negative question in (6/7) conveys agreement and that French
has a specialized particle, si, to convey reversal in response to a negative question like (6/7), with the result
that bare non is strongly dispreferred in this context; however, I think that it is not impossible. All that is
necessary to improve its acceptability is to disambiguate (e.g. with intonation, with a following sentence).

@ Springer



262 J. Pasquereau

nucleus.'? However, note that bare non (without any disambiguating phrase or clause)
is not acceptable as a reversal particle. This contrast between clause-peripheral and
bare non with respect to reversal of a negative question constitutes Sub-puzzle 1.3

To summarize the patterns of responses we have seen so far, in (8) I use the feature
system of Roelofsen and Farkas (2015) (itself inspired by the insights in Pope 1976).
Each discourse initiative/response pair is characterized in terms of two features: abso-
lute features [+, —] mark the response as having positive or negative polarity, whereas
relative features [AGREE, REVERSE] signal how the response is related to the nucleus
of the question it responds to.

(8)  Summary of patterns of embedded PRPs in French (so far)

Example | Quest. Resp. Absolute Relative Embedded
feature feature PRPs
(5B1/B2) | p? p + AGREE oui

oui, prejacent
(5B3/B4) | p? —-p — REVERSE  non

non, prejacent
(6) —p? —p — AGREE non

non, prejacent
Yooui

oui, prejacent
@) —p? p + REVERSE i

si, prejacent
*non (7?2NON)
non, prejacent

The examples examined in this section are relatively simple inasmuch as they do
not involve scope-bearing operators other than negation. The aim of this paper is
precisely to look at what happens when the nucleus of the question a PRP responds
to contains negation and another scope-bearing operator. I show that the answer to
this question informs our understanding of the distribution of when non can realize an
‘agree’ response and when it must realize a ‘reverse’ response.

12. Clause-peripheral non in (7c) has the same meaning as the specialized reversal particle si. However,
there are cases where only non can be used to reverse and where si is unacceptable; see Sect. 7.1.

13. Contrastive intonation can make bare non, transcribed as NON, marginally acceptable to reverse a
negative question nucleus. Note that this does not apply to oui. Given the TOBI transcription system proposed
in Delais-Roussarie et al. (2015), what I call ‘contrastive intonation’ on non—and write NON—might be
characterized as H¥*L.%, though I hasten to say that this is an impressionistic transcription. That intonation can
impact the interpretation of these particles is not surprising given previous research (Gonzalez-Fuente et al.
2015; Goodhue and Wagner 2018). Incidentally, French differs from Catalan precisely in that contrastive
intonation on oui is not enough to reverse the polarity of the question nucleus. Most likely this is because
French, unlike Catalan, has a third particle—si—which is used precisely for that purpose.
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3 Empirical generalizations concerning the interpretation of non

In what follows, my focus is on the interpretation of the particle non: what controls its
interpretation and what kind of prejacent it can take. I start in Sect. 3.1 with presenting
the basic puzzle and establishing a descriptive generalization. In Sect. 3.2, I present
data involving neg-raising predicates to show that the account of the interpretation of
non must appeal to the syntactic representation of the question non responds to, while
in Sect. 3.3 I consider data involving the aspectual scope-bearing adverbial foujours
‘still” that show that the account must also appeal to the semantic representation of
the question nucleus. Finally, Sect. 3.4 summarizes the pattern of data and gives the
final descriptive generalization.

3.1 Ambiguity between ‘agree’ and ‘reverse’ readings

While in most cases bare non and clause-peripheral non behave the same way (syntac-
tically and semantically), there are cases where clause-peripheral non does not behave
like bare non (on the surface). For this reason, I describe them separately.

3.1.1 Bare ‘non’

In response to a positive question p?, answering with non asserts the negation of
the question nucleus, i.e. —p, whether p in the question contains a scope-bearing
operator or not. Thus in (9), the non-response asserts the negation of the question
nucleus ‘Olivier went to his place’, and in (10), the non-response asserts the negation
of the question nucleus ‘Someone went to his place’ (where ‘someone’ is interpreted
unspecifically).

(9) A:Est -ce qu’ Olivier est allé chez lui ?

is it  that Olivier is gone to his
‘Has Oliver gone to his place?’

B:Je crois que non.
I believe that no
‘I believe that he has not.’

Meaning of question: (Oliver has gone to his place)?

Meaning of response: I believe that —(Oliver has gone to his place)

(10)  Context: My friends and I are really upset at Jean and we all promised not to
go to his party.

A:Est -ce que quelqu’un est allé chez lui ?
is it that someone is gone to his
‘Has someone gone to his place?’

B:Je crois que non.

I believe that no
‘I believe that no one has.’
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264 J. Pasquereau

Meaning of question: (3x. x has gone to his place)?
Meaning of response: I believe that (—(3x. x has gone to his place))

The pattern can be summarized as in (11): when the question does not contain
clausal negation, the non-response asserts the negation of the clausal nucleus—in
other words, it reverses it.

(11)  Meaning of non in B responses

Ex. \ Meaning of question \ Meaning of response
I believe that
) ‘ Olivier went to his place ‘? —-‘ Olivier went to his place ‘
I believe that
(10) ‘ 3x. x went to his place ‘? —|‘ Jx. x went to his place ‘

Throughout the paper, I use questions as discourse initiatives and non embedded
under Je crois que ‘I think that’. For this reason, I take the liberty not to represent
either the question operator or the embedding predicate in the summaries below. I
now look at questions that contain (low) clausal negation. I begin in (12) with the
negative counterpart of the example we started with in (9). The fact that the question
is now negative does not change the meaning of the non-response: it agrees with its
negative question nucleus.

(12)  A:Est -ce qu’ Olivier n° est pas allé chez Iui du tout ?
is it that Olivier NEG is NEG gone to his at all
‘Has Oliver not gone to his place at all?’
B:Je crois que non.
I believe that no
‘I believe that he has not.’
Meaning of question nucleus: —(Olivier has gone to his place)
Meaning of embedded response: —(Olivier has gone to his place)

In the next examples, I look at the same question except that now the subject is
an (unspecific) existential quantifier. A question initiative containing a quantifier and
negation changes the interpretation of the reply depending on the relative scope of
the quantifier and clausal negation. If the existential quantifier has scope over clausal
negation, the non-response cannot agree with the question nucleus and must reverse it.
In (13), the (unspecific) existential quantifier contributed by guelgu’un ‘someone’—
being a positive polarity item—must be interpreted outside the scope of negation. The
non-response can only reverse the question nucleus and mean that it is not the case
that someone has not been to Jean’s place.

(13)  Context: Jean invited his friends to his place for the day. Apparently, he is sad
today. Perhaps someone didn’t go.
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A:Est -ce que quelqu’un n” est pas allé chez lui du tout ? (3—)
is it that someone NEG is NEG gone to his at all
‘Has someone not gone to his place at all?’
B:Je crois que non.
I believe that no
‘I believe that everyone has been to his place.’

Meaning of question nucleus: 3x—(x has gone to his place)
Meaning of embedded response: —(3x—(x has gone to his place))

If the existential quantifier has scope below clausal negation, the non-response can
agree with the question nucleus. In (14), the existential quantifier is contributed by the
N-word personne ‘no one’, which must be interpreted in the scope of negation. There,
the non-response agrees with the question nucleus and means that, indeed, no one has
been to Jean’s place.

(14)  A:Est -ce que personne n’ est allé chez lui du tout ? (—3)
is it  that nobody NEG is NEG gone to his at  all
‘Has no one gone to his place at all?’
B:Je crois que non.
I believe that no

‘I believe that no one has been to his place.’

Meaning of question nucleus: —(3x. x has gone to his place)
Meaning of embedded response: —(3x. x has gone to his place)

The pattern with negative questions can be summarized as in (15): when the question
nucleus contains clausal negation, bare non reverses it unless negation is the highest
scope-bearing operator.

(15) Meaning of non-responses in B responses

Ex. ‘ Meaning of question nucleus ‘ Meaning of embedded response
(12) ‘ —(Olivier went to his place) ‘ —(Olivier went to his place)
(13) 3Ix. —(x went to his place) —| 3x. —(x went to his place)
(14) —(3x. x went to his place) —(3x. x went to his place)

I propose the generalization in (16) to describe the patterns summarized in (11)
and (15).

(16)  First generalization about the interpretation of bare non in response to a ques-
tion:
- If negation is the outermost scope-bearing operator in the question nucleus,
non agrees with it.
- Otherwise, bare non reverses it.
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266 J. Pasquereau

So far we have only looked at existential quantification in subject position, but in
what follows, I give further examples to illustrate this generalization and show that
it also holds with universal quantifiers, whatever their syntactic position or syntactic
category. In the next example I look at a negative question containing the V quantifier
in the DP rout le monde ‘everyone’ in subject position. Although, tout ‘all’ preferably
takes scope under negation in French, both scope relations are possible with enough
contextual support. Thus in (17), the context is such that the speaker in A wants to
check that the rumor that no one has died is true (this is facilitated by emphasizing
tout le monde with intonation; see Sect. 7.2 for a discussion of the effect of focussed
DPs). The non-response can only have the reversal meaning.

(17)  Context: There has been an explosion in my building while I was away, but a
rumor says that by chance no one has died. I ask a policeman:

A:Est -ce que tout le monde n’ est pas mort ? (V—)
is it that every the world NEG is NEG dead
‘Has everybody not died?’

B:Je crois que non.
I believe that no

‘I think that some people died.’

Meaning of question nucleus: Vx(—x. x is dead)
Meaning of embedded response: —(Vx(—x. x is dead))

With the same question involving tout le monde ‘everyone’, the other, easier scope
relation, =V, yields a different response pattern with non since it must agree.'*

(18)  Context: I know there are people who died, but last time there were many sur-
vivors, so I wonder if this time too, not everybody died.
A:Est -ce que tout le monde n’ est pas mort ? (—V)
is it that every the world NEG is NEG dead
‘Has everybody not died?’
B:Je crois que non.
I believe that no
‘I think that not everybody is dead.’

Meaning of question nucleus: —(Vx. x is dead)
Meaning of embedded response: —(Vx. x is dead)

14. Stressed bare NON marginally makes available the reversal interpretation.

(i) ?Je crois que NON.
1 believe that no.

‘T believe that everybody is dead.’

Meaning of question nucleus: —(Vx. x is dead)
Meaning of NON(p): ——(Vx. x is dead)
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The syntactic position of the phrase containing the scope-bearing element does not
matter: it can be the subject, as in the examples so far, but it can also occur in object
and oblique positions, as in (19).

(19)  Context: I just went around the room serving wine and I’m surprised that I
have a glass of wine left unclaimed. My colleague asks me:

A:Est -ce que tu n’ as pas donné de vin du tout a quelqu’un ? (3—)
is it that you NEG have NEG given DE wine at all to someone
‘Have you not given wine to someone at all?’
B:Je crois que non.
I think that no
‘I think that I gave wine to everybody.’

Meaning of question nucleus: 3x—(you have not given wine to x)
Meaning of embedded response: —(3Ix—(I have not given wine to x))

In fact, the scope-bearing element can even be contributed by non-arguments like
verbs and adverbs. For instance, depending on whether the adverb souvent ‘often’ is
interpreted inside or outside the scope of negation, non can agree or not, as illustrated
in (20) and (21) respectively.

(20) Context: An insurance company employee wants to make sure that the new
professional soccer player they might insure is healthy:

A:Est -ce qu’ il ne va pas souvent chez le médecin ? (—souvent)
is it that he NEG goes NEG often to the doctor
‘Does he not go often to the doctor’s?’

B:Je crois que non.
I think that no
‘I think that he does not go often.’

Meaning of question nucleus: —(he often goes to the doctor’s)
Meaning of embedded response: —(he often goes to the doctor’s)

(21)  Context: A doctor (A) asks a teacher (B) who is worried about a child’s health:

A:Est -ce qu” il n’ est souvent pas la  ? (souvent—)
is it that he NEG is often NEG there
‘Is he often not there?’
B:Je crois que non.
I think that no
‘I think that it’s not the case that he is often not there.’
Meaning of question nucleus: often(—(he is there))
Meaning of embedded response: —(often(—(he is there)))
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Adding the exclusive adverb seul ‘only’ triggers the same effect: a non-response
cannot agree.'> In the question in (22), the adverb seule is associated with the focussed
DP Marie. The non-response may only reverse the nucleus and assert that other people
(other than Marie) did not finish their plate. In this and similar cases, the only way to
give an agreeing response is with oui (22 B2).

(22) Context: Everybody’s gone from the table. All the plates are empty except one.

A:Est -ce que seule MARIE n’ a pas fini  son assiette ? (seule Marie—)
is it that only Marie NEG has NEG finished her plate
‘Has only Marie not finished her plate?’

B1: Je crois que non.
I believe that no
‘I think that it’s not only Marie who didn’t finish her plate.’

Meaning of question nucleus: only Marie(—(has finished her plate))
Meaning of embedded response: —(only Marie(—(has finished her plate)))

B2: Je crois que oui.
I believe that yes
‘I think that only Marie didn’t finish her plate.’

Meaning of question nucleus: only Marie(—(has finished her plate))
Meaning of oui(p): only Marie(—(has finished her plate))

I have tested several scope-bearing operators (in subject, object, and oblique posi-
tions (where applicable)).16 I summarize the data in (23).!7

15. I show in Sect. 7.2 that focussed DPs, in a contrastive context and in the absence of the (overt) adverb
seul ‘only’, also trigger the obligatory use of reversal non.
16. See database available at https://jeremy-pasquereau.jimdo.com.

17. As mentioned earlier in Sect. 2, I have not discussed further the data on accented bare NON. Judgments
are subject to variation across and sometimes within speakers. My impression is the following. To reverse
a question nucleus whose highest scope-bearing operator is negation, bare unaccented non is unacceptable
(i.B1), bare clause-peripheral non is perfectly acceptable (i.B3), and bare accented NON is somewhere
in between (i.B2): the accentuation helps convey the reversal meaning but somehow does not seem to be
‘enough’. It is possible that the effect of accentuation is not a grammatical phenomenon.

(i) Est -ce que Marie ne 1" aime plus du tout ?
is it that Marie NEG him love anymore at all

‘Does Marie not love him at all anymore?’
B1:*Je crois que non. Intended: ‘I think that she still loves him.’
B2:7Je crois que NON. ‘I think that she still loves him.’

B3: Je crois que non/NON, elle 1’aime encore. ‘I think that she still loves him.’
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(23)

Summary table for unstressed bare non

S-B op. in question nucleus Response type
non
-p l—-_p‘ agree
* | reverse
N-word lﬂ_EI‘ agree
(=3) * | reverse
quelqu’un ‘someone’ (3—) * | agree
—1’3——|¥ reverse
tout DP ‘every NP’
v agree
* | reverse
= R * | agree |
—-’V——-’ reverse
devoir ‘must’
v agree
* | reverse
I * | agree |
—-’V——-’ reverse
souvent ‘often’
—souvent agree
* | reverse
| souvent— [ * | agree |
- souvent— reverse
seule Marie ‘only Marie’ (V—) * | agree
—JV——" reverse

The generalization is the following: bare non conveys agreement when the highest-
scope bearing operator in the question nucleus is negation; otherwise it conveys
reversal.

(24)

Generalization for unstressed bare non

Scopal relation
in question nucleus

Meaning of
embedded non response

-OP —-OP
OP— — OP—

agree
reverse

Note that whatever the number of operators in the question nucleus, all that matters
is the height of clausal negation relative to these operators.'® Thus in (25), a response
with non reverses the question nucleus containing the sequence 3 > — > 3.

18. Thanks to Donka Farkas for suggesting that I look at these configurations.
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(25) Op—Op
A: Est -ce que quelqu’'un n” a rien fait ? (3—3, *—33, *33)
is it that someone NEG has nothing done

‘Has someone not done anything?’

B: Je crois que non.
I think that no
‘I think that no one did nothing/everyone did something.’

Meaning of question nucleus: Ix(—(Jy. x has done y))
Meaning of embedded response: —(3Ix(—(Jy. x has done y)))

3.1.2 Clause-peripheral ‘non’

In (26) the agreement reading that is available with bare (unaccented) non in (26 B1)
is still available with clause-peripheral non in (26 B2). In addition, clause-peripheral
non makes available the other reading, i.e. the reversal reading in (26 B3), provided the
prejacent (the clause to the right of a PRP) denotes a proposition that is the negation
of the question nucleus in A.

(26) A:Est -ce qu’ ils n’ ont pas encore été recus ?
is it that they NEG have NEG yet been received
‘Have they not been received yet?’

B1: Je crois que non. = agreement / *reversal
I think that no
‘I think that they have not been received.’

Meaning of question nucleus: —(they have been received)
Meaning of embedded response: —(they have been received)

B2: Je crois que non, ils n’ ont pas = agreement / *reversal
I think that no  they NEG have NEG
encore été regus.
yet been received
‘I think that they have not been received.’

Meaning of question nucleus: —(they have been received)
Meaning of embedded response: —(they have been received)

B3: Je crois que non, ils ont été regus. = *agreement / reversal
I think that no  they have been received
‘I think that they have been received.’

Meaning of question nucleus: —(they have been received)
Meaning of embedded response: ——(they have been received)
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When bare non has the reversal reading in (27 A) (because negation is not the
highest scope-bearing operator in the question nucleus), clause-peripheral non also
has this reading; cf. (27 B2). However, here clause-peripheral non does not make
available the other reading, i.e. the agreement reading. In fact, as (27 B3) shows, if
the prejacent does not reverse the question nucleus, the construction is just ill-formed
in this context. This is Sub-puzzle 2.

(27) Context: A physician is surprised to be done with patient consultations earlier
than she expected. She asks her secretary:

A:Est -ce que quelqu’un n° a pas encore été recu ? (3I—)
is it that someone NEG has NEG yet been received

‘Has someone not been received yet?’

B1: Je crois que non. = *agreement / reversal
I believe that no

‘I think that everybody has been received.’

Meaning of question nucleus: Ix(—(x has been received))
Meaning of embedded response: —(3x(—(x has been received)))

B2: Je crois que non, tout le monde = *agreement / reversal
I believe that no all  the world
a été recu.
has been received
‘I think that everybody has been received.’

Meaning of question nucleus: 3x(—(x has been received))
Meaning of embedded response: —(3Ix(—(x has been received)))

B3: #Je crois que non, quelqu’un n” a = *agreement / *reversal
I believe that no  someone NEG has
pas encore été recu.
NEG yet been received

Meaning of question nucleus: Ix(—(x has been received))
Meaning of embedded response: —

Therefore, it is not the case that “anything goes with clause-peripheral non”: it can
be used to convey agreement with a question nucleus only if the highest scope-bearing
operator is negation. The table in (28) presents a summary of the data relevant to
clause-peripheral non alongside the bare-non data we saw in the preceding section.
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(28)  Summary table
non  non, prejacent

—-p —p agree
—'—'—p reverse

N-word 3 —3 agree

(—3) —-—-_Ei reverse

quelqu’un ‘someone’ (3—) * | agree

ES
k
ES
ES

tout DP ‘every NP’

= =V reverse
V= * * | agree

-V -V agree
* = =V reverse
R 0T T # [ agree
—- —- reverse
souvent ‘often’
—souvent ‘ —souvent ‘ ‘ —souvent agree
* = =souvent reverse
" sowvent— T T 7777 * £ %aigreiei )
—|‘ souvent— ‘ —|‘ souvent— ‘ reverse
seule Marie ‘only Marie’ (V—) * * | agree

The generalization is as follows: when the highest scope-bearing operator in the
question nucleus is negation, clause-peripheral non can convey agreement or reversal
(with a prejacent that denotes the same proposition as the question nucleus or its
negation, respectively). Otherwise, clause-peripheral non can only convey reversal.

3.1.3 Summary

With respect to the main puzzle we started out with in the Introduction—the effect of
quantifiers outscoping negation on the interpretation of non—bare non and clause-
peripheral non behave similarly: when the highest scope-bearing operator in the
question nucleus is negation, non conveys agreement; otherwise non conveys reversal.

In addition to this main puzzle, we see that clause-peripheral non, unlike bare
non, can always convey reversal (even when the highest scope-bearing operator in
the question nucleus is negation) (Sub-puzzle 1) but only if the prejacent denotes a
proposition that is the negation of the question nucleus (Sub-puzzle 2). I summarize
in (29) the main puzzle as well as the two sub-puzzles which will be given an analysis
in Sect. 5.
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(29) Main puzzle: Scope conservation. Why is non sensitive to the scope of a quan-
tifier with respect to negation?

a.  Sub-puzzle 1: Why can’t bare non convey reversal in response to a negative
question?

[6/7] A:Est- ce que Marie n° a pas aimé ce livre ?
is it that Marie NEG has NEG liked this book
‘Did Marie not like this book?’

B1: Je crois que non. = agreement / *reversal
I believe that no
‘I believe that she didn’t like it.’
B2: Je crois que non, elle I’ a aimé. = *agreement / reversal
I believe that no  she it has liked
‘I believe that she liked it.’

b.  Sub-puzzle 2: Why does the reverse reading of bare non disappear when
the prejacent is spelled out (as in 30 b B2 below)?

[26] A:Est- ce que quelqu’'un n” a pas encore été recu  ?
is it that someone NEG has NEG yet been received
‘Has someone not been received yet?’

B1: Je crois que non. = *agreement / reversal
I believe that no
‘I think that everyone has been received.’

B2: Je crois que non, quelqu’un n° a pas encore été
I believe that no someone NEG has NEG yet been
recu.
received
Intended: ‘I think that everyone has been received.” =
*agreement / *reversal

I have remained agnostic as to which level of representation—e.g. syntactic or
semantic—the descriptive generalization for the main puzzle should be stated at:'° in
all the cases examined up to now, semantic and syntactic scope have been aligned. In
order to address this question, I look at a case of misalignment between the semantic
and the syntactic scope of negation: examples containing negated neg-raising pred-
icates, where negation is outside the syntactic scope of the quantificational operator

19. We already know that the scope relation that matters cannot just be the one that holds semantically
in the denotation of the question nucleus because Y— equals —3 but those scope relations yield different
response patterns with non. Thanks to Vincent Homer (p.c.) for this remark.
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but interpreted within its semantic scope. Neg-raising predicates show that the gener-
alization must have access to the syntactic representation of the scope relations.

3.2 Neg-raising: the generalization should be stated at LF

In Bartsch (1973) neg-raising is taken to be a purely semantic/pragmatic phenomenon;
that is, contrary to what its name suggests, neg-raising does not in fact involve the
raising of negation in the syntax. For instance, in the question in (29) containing the
neg-raising predicate vouloir ‘want’, negation is assumed to be where it appears—in
the matrix clause, with vouloir ‘want’ in its scope.

(30) A:Est -ce qu’ elle ne veut pas terminer son assiette du tout ? (syn: —V, sem: V—)
is it that she NEG want NEG finish her plate at all
‘Does she not want to finish her plate at all?’
LF

CPr10)

CA
RN

elle NegP

A

terminer son assiette du tout

The neg-raiser vouloir ‘want’ achieves wide scope over (semantic) negation via an
‘excluded middle inference’, as laid out in (31).

(31) Excluded middle inference of question nucleus

a. Meaning of question nucleus:
—(Vw’eBOUL,, x x finishes x’s plate in w’)

b. Excluded middle presupposition:
VYw’eBOUL,, , x finishes x’s plate in w’ vV Yw’e€BOUL,, , —(x finishes
X’s plate in w”)

c. Neg-raised meaning of question nucleus by a and b:
Vw’eBOUL,, » —(x finishes x’s plate in w’)

Let’s entertain for the sake of argument that the generalization in (16) could be
stated in terms of semantic scope relations. Since, according to the excluded-middle
analysis of neg-raising (Bartsch 1973), neg-raising predicates constitute a case where
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semantic and syntactic scope come apart, a response to (30) containing embedded
non, like (32), is predicted to have different interpretations depending on whether the
generalization is stated at LF or at the semantic level.

If negation at LF matters, we expect an embedded non-response like (32) to the
question in (30) to convey agreement and mean ‘She wants not to finish her plate at all’
(after the excluded-middle presupposition has been taken into account). If, however,
semantic negation matters, we expect the embedded non-response to convey reversal
and mean ‘It is not the case that she wants not to finish her plate at all’.

(32) B:Je crois que non.
I believe that no

a. Meaning of embedded response (as predicted by LF generalization):
VYw’eBOUL,, » —(x finishes x’s plate in w”’)

b. Meaning of embedded response (as predicted by semantic negation gener-
alization):
*—(Yw’eBOUL,, » —(x finishes x’s plate in w’))

Responding with (32) to (30) conveys agreement, i.e. ‘I think that she wants not to
finish her plate at all’. The meaning of the embedded non-response is predicted if the
descriptive generalization in (16) is stated over its LF representation, but not if it is
stated purely in semantic terms.?"

3.3 Non-quantificational scope-bearing operators: the generalization should be
stated in the semantics

This section examines the pair foujours pas ‘still not’ / pas encore ‘not yet’ illustrated
in (33).2! The adverb foujours with the meaning ‘still’ must not be anti-licensed by
clausal negation, whereas encore can occur in the scope of negation. This is perhaps
most apparent in fragment answers to polar questions. The sequence pas toujours can
only mean ‘not always’; toujours must appear before pas to mean ‘still’, otherwise
the word encore ‘yet’ is used.

(33) Est -ce que tu as recu ton colis aujourd’hui ?
is it that you have received your package today
‘Did you receive your package today?’
B1: Toujours pas. ‘Not yet.’
B2: # Pas toujours.

B3: Pas encore. ‘Not yet.’

20. Alternatively, in a purely semantic analysis, the neg-raising facts would show that non does not have
access to the post-entailment meaning.

21. Thanks to Vincent Homer for drawing my attention to these adverbs.
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A non-answer to a negative question containing encore asserts the negative question
nucleus—as expected, since negation is the highest scope-bearing operator in it.

(34) A:Est -ce que Tom n° a pas encore commencé son article du tout ?
is it that Tom NEG has NEG yet started his paper at all
(—encore)

‘Has Tom not started his paper at all?’
B:Je crois que non.

‘I think that he has not started his paper at all yet.’

Meaning of question nucleus: —(Tom has started his paper yet)
Meaning of embedded response: —(Tom has started his paper yet)

Given that foujours ‘still’ must take scope above negation, we might expect that,
like other scope-bearing operators, it blocks the use of nonggr... However, as (35)
shows, a non-response to such a question conveys agreement.

(35) A:Est -ce que Tom n° a toujours pas commencé son article du tout ?
is it that Tom NEG has still NEG started his paper at all
(toujours—)

‘Has Tom still not started his paper at all?’
B:Je crois que non.

‘T think that he has still not started his paper at all.’

Meaning of question nucleus: STILL—(Tom has started his paper)
Meaning of embedded response: STILL—(Tom has started his paper)

It might seem that the operator foujours ‘still’ is a counterexample to the general-
ization we have so far entertained. However, I hypothesize that the generalization can
be kept, provided it is refined a little. The intuition is that the adverb toujours still’
is not quantificational and does not create a truth-conditional ambiguity. The analysis
must then differentiate between scope-bearing operators that create a truth-conditional
ambiguity and those that do not.

3.4 Descriptive generalization

We saw in Sect. 3.1.3 that when the highest truth-conditional ambiguity-creating scope-
bearing operator in the question nucleus at LF is negation, non—whether bare or
clause-peripheral—conveys agreement; otherwise it conveys reversal (main puzzle). In
addition, while bare non can sometimes but not always convey reversal (i.e., when the
condition above is met), clause-peripheral non can always convey reversal (Sub-Puzzle
1), provided the prejacent denotes the negation of the question nucleus (Sub-Puzzle
2).
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In the next subsection, data involving neg-raising predicates showed that the main
puzzle generalization must appeal to the LF representation of the scope-bearing oper-
ators, and the toujours ‘still’ data showed that the interpretation of non is sensitive to
whether operators outscoping negation at LF create a truth-conditional ambiguity or
not.

In what follows, I argue that this generalization falls out from the interaction of two
independent elements: (i) a general syntax/semantics for PRPs—which, among other
things, predicts that non is the realization of two underlying morphemes, negation or
a REVERSE feature, in line with previous work—and (ii) the assumption that covert
negation can be inserted as a last resort rescue strategy under ellipsis, following Faldug
and Nicolae (2016).

4 Theoretical background

The purpose of this section is to outline the assumptions I make about the structure of
French clauses in general, and of clauses containing a PRP in particular. I assume that
PRPs in French are the spell-out of a Pol(arity) head whose contents require certain
conditions to hold between the PRP response and the discourse initiative it responds
to. My analysis builds on the idea in Roelofsen and Farkas (2015) that PRPs spell out
Pol heads which host two types of features—relative and absolute—though I depart
from their specific proposal in a few ways.

4.1 PRPs are the realization of Pol

Following Roelofsen and Farkas (2015) and Pasquereau (2018), I assume that PRPs
in French are the spell-out of a Pol head (see Sects. 4.3 and 4.4 for refinements of this
proposal). Only reactive assertions have a Pol head. I assume that the basic structure
of a clause containing a PRP is as in (36): the Pol head takes a full clause—the
prejacent—as its complement.

(36) Syntax of responses containing polar response particles

PolP

/N

Pol prejacent

The prejacent can optionally be elided under semantic identity with some constituent
in the preceding question (e.g. TP, VP). I call this constituent the ‘ellipsis antecedent’.
Thus, what I have referred to until now as bare and clause-peripheral PRPs are in fact
two realizations of the same underlying structure. I use Merchant’s (2001) notion of
e-givenness for semantic identity, defined in (37).
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(37) Definition of e-givenness (Merchant 2016)
A expression € is e-GIVEN iff € has a salient ellipsis antecedent A such that
[A]=F-clo(e¢) and [e]=F-clos(A).

(38) Definition of (existential) F-closure of € (Schwarzschild 1999)
F-clo(e) is the result of replacing F-marked phrases in € with variables and
existentially closing the result, modulo existential type shifting.

Notice that the definition licenses PF deletion of the prejacent under semantic
identity with some ellipsis antecedent, not necessarily always the same constituent.
Just as different constituents can introduce different discourse referents, an elided
constituent can be interpreted with respect to different parts of a preceding utterance.””

4.2 PRPs are anaphoric expressions

PRPs, whether bare or followed by a sentence, are anaphoric expressions, i.e. they are
interpreted relative to a constituent in the previous discourse. For instance, compare
(39) and (40): bare or clause-peripheral non cannot agree if a question is positive
(39a), but it can if the question is negative (40a); likewise, bare or clause-peripheral si
can reverse if the question is negative (40b) but not if the question is positive (40a).

(39) A:Est -ce que Marie a aimé ce livre ?
is it that Marie has liked this book
‘Did Marie like this book?’
a. Agreement: Oui/ *Non / *Si (elle a aimé ce livre).

b. Reversal: *Oui / Non / *Si (elle n’a pas aimé ce livre).

(40) A:Est -ce que Marie n” a pas aimé ce livre ?
is it that Marie NEG has NEG liked this book
‘Did Marie not like this book?’
a. Agreement: Oui/ Non / *Si (elle n’a pas aimé ce livre).

b. Reversal: *Oui / Non / Si (elle a aimé ce livre).

22. In particular, given a negated sentence preceding an elided structure, either the full negative ellipsis
antecedent can be retrieved as in (i.a) or just its prejacent as in (i.b). See Krifka (2013) and Snider (2017).

(i) a. Soit vous n’avez pas empéché ce crime et vous expliquez pourquoi <vous n’avez pas empéché ce
crime>, soit vous n’avez rien a vous reprocher et vous témoigner.
‘Either you didn’t prevent this crime and you explain why, or you don’t have anything to reproach
yourself with and you can testify.’

b. Soit vous n’avez pas commis ce crime, soit vous nous expliquez pourquoi <vous avez commis ce
crime>.
‘Either you didn’t commit this crime, or you tell us why.’
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The constituent relevant for the interpretation of PRPs is not necessarily exactly the
same as the ellipsis antecedent (see (58) in Sect. 5.1.1 below for an example). Therefore
I call the constituent (in the question) that is relevant for calculating the interpretation
of the PRP the ‘PolP antecedent’ (PolP being the constituent that the PRP heads in the
response). In this paper, I assume that the PolP antecedent (i.e., the antecedent relevant
for the interpretation of a PRP) is always the nucleus of the preceding question, i.e. the
TP in (41). By contrast, the ellipsis antecedent is sometimes the whole TP, sometimes
a smaller constituent (e.g. the VP in (58) below).?

(41) A: Est-ce que [7p Marie a aimé ce livre ] ?
B: Je crois que non.

The Pol head is the seat of two types of information: it encodes the polarity of
the prejacent and it encodes whether the prejacent agrees with the PolP antecedent or
reverses it. In Roelofsen and Farkas (2015) (following proposals in Farkas and Bruce
2010; Farkas 2010; Pope 1976), these are encoded as two bivalent features base-
generated in Pol; see (42) below. The absolute polarity feature marks the prejacent
of Pol as being positive or negative, whereas the relative polarity feature marks the
response as agreeing or reversing the antecedent.

(42) Polarity features in Roelofsen and Farkas (2015)
a. Absolute polarity features: [+], [—]

b. Relative polarity features: [AGREE], [REVERSE]

I slightly depart from the specifics of the account in Roelofsen and Farkas (2015)
since I propose that what they formalize as ‘absolute features’ are in fact polarity
heads, not features. In the next section, I explain how Pol comes to reflect the polarity
of the prejacent.

4.3 The 2-head and movement to Pol

Following Sailor (2012), Kramer and Rawlins (2011), Roelofsen and Farkas (2015),
Gribanova (2017), I assume that every sentence has a head with a polarity feature
which is valued positively or negatively. I call this head Y. Thus the question in
(43a) has the LF in (43b), and the assertion in (44a) has the LF in (44b).>*

23. I do not commit to there being a vP in the structure. If one assumes the vP analysis of the introduction
of external arguments (Kratzer 1996), then TP or vP would be the possible ellipsis antecedents.

24. If the assertion in (44) is a response, then I assume that it is headed by Pol, which can optionally be
spelled out as a PRP.
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(43) Question
a. Est-ce que Marie est 1a ? ‘Is Marie here?’
b. LF of (43a)

CP10

Cit0 Tp

(44) Assertion
a. Marie est 1a. ‘Marie is here.’
b. LF of (44a)

TP

N

Marie; P

Y+ VP

AN

t; estla

On the semantic side, I assume that an interpretable positively-valued X'-head
is an identity function, whereas an interpretable negatively-valued X'-head takes a
proposition and reverses its polarity, as schematized in (45).
45) a. [Z+]=rp.p
b. [X—]=rp.—p

In this paper I also assume that (i) Pol must AGREE with a ¥'-head, which then must
undergo head movement to Pol?> (under the copy theory of movement, Chomsky

25. The reader may object that X'-to-Pol head movement does not respect the Head Movement Constraint
since T stands above X but below Pol. First, see Harizanov and Gribanova (2019) for arguments that certain
types of head movement do not respect the HMC. Second, it could be the case that X moves to T at PF and
then is ex-corporated and moves to Pol at LF.
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1992) and that (ii) the higher copy of ¥ is interpreted.’® Note that only one copy of X
can be interpreted, thus the movement does not seem to leave a trace (reconstruction is
not possible). Moreover, while only the high copy of X' is interpreted, both copies are
pronounced: the copy in Pol is spelled out as a PRP (see realization rules in Sect. 4.5),
whereas the lower copy is spelled out as ne if it is X’ — and as a silent morpheme if it
is X+,

(46) Syntax of polar responses

A: Est-ce que Marie n’est pas venue ? ‘Did Marie not come?’
B: Non, Marie n’est pas venue. ‘No, she didn’t.’

PolP

Pol TP

/NN

Pol X;- Marie P

s

est venue

Both claims are independently made and argued for in Gribanova (2017) in order
to account for the different realizations of polarity focus in Russian. I assume that
Pol has the denotation in (47) and combines with X via function application.?” The
meaning of Pol is purely presuppositional, as I discuss further in Sect. 4.4.

(47)  [Pol]=Aq<ss.st>Ap<st>: PRESUPPOSITION(q(p)). q(p)

Thus in this system, what Roelofsen and Farkas (2015) call ‘absolute features’ are
not features but the copy of a lower Polarity head. I show in Sect. 5 that extending
these claims to French, when combined with the account in Roelofsen and Farkas
(2015), correctly predicts the pattern of interpretation of non-responses. I now turn to
examining the presupposition part of the denotation of Pol.

26. An anonymous reviewer notes that negation is usually assumed not to move. For instance, latridou and
Zeijlstra (2013, ex. (62)) state that “negation [...] is interpreted in its surface position and may only raise to a
higher position at LF if it moves along with another, independently raising element (Horn 1989; Penka and
von Stechow 2001; Zeijlstra 2004; Abels and Marti 2010; Penka 2010)”. My assumption that X' moves is
incompatible with this view. Perhaps the movement of negation is subject to very stringent constraints. For
instance, Holmberg (2013) points out that PRPs (and their equivalents across languages, e.g. certain verbal
forms used as answers) are associated with focus. It could be that negation can only move to a focussed
position. In any case, that X' moves is a central claim of this paper.

27. A consequence of positing this denotation for Pol is that copy/movement of X' to Pol and its interpretation
in the high position are necessary for the structure to be interpretable.
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4.4 Two types of Pol heads

Following Roelofsen and Farkas (2015) but in the vein of Gribanova (2017), I assume
that there are two Pol heads in French: one marked with a feature [reverse], Pol,cyperses
and another marked with a feature [agree], Pol,g,c.. These features encode a presup-
position that the whole PolP must satisfy (48).

(48) Presuppositions of Pol heads

a. Polggre. presupposes that the context provides a salient constituent TP
which denotes the PolP antecedent proposition [TP] such that [PolP] and
[TP] contain the same possible worlds.?3

b.  Pol,eyperse presupposes that the context provides a salient constituent TP
which denotes the PolP antecedent proposition [TP] such that [PolP] is the
complement of [TP].

Remember that there are two notions of antecedent: the ‘PolP antecedent’ for the
meaning of PolP and the ‘ellipsis antecedent’ for the prejacent of PolP in case of
ellipsis. Thus, the example in (46) has the syntax in (49a) and the interpretation in (49b).

(49) A: Est-ce que Marie n’est pas venue ? ‘Did Marie not come?’
B: Non, Marie n’est pas venue. ‘No, she didn’t.’

a. PolP

Polyg e TP

NN

Polygree Xi- Marie 2P

N

PN

est venue

b. [PolP]=—(Marie has come), defined only if PolP denotes a proposition o«
and the context provides a salient constituent TP which denotes the PolP
antecedent proposition B such that « and B contain precisely the same
possible worlds.

28. This definition would need to be a bit more complex to predict the unacceptability of examples like (i).
Since this is not the focus of this paper, I leave out the issue for now (see Roelofsen and Farkas 2015 for
more detail).
(i) A: Est-ce que [7 p le nombre de planétes X'+ est pair | ? ‘Is the number of planets even?’

[TP]={w: the number of planets is even in w}

B: #[ pop Non, il n’est pas impair ]. ‘No, it’s not uneven.’
[PolP]={w: the number of planets is even in w}

To handle such cases in my approach, these definitions could make reference to the X'-head of the PolP
antecedent and to the X'-head of the PolP.
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4.5 Realizational rules in French

Based on the description of the data in Sect. 2, I assume the rules in (50) for French
PRPs.

(50) Realization potential for French particles:
a. Polggree and X+ can be realized by oui.
b.  Pol,eyperse and X' — can be realized by non.

c. [Polyeyerses 2 +] is realized by si.

As a consequence of (50), the connection between the four possible feature com-
binations and the three PRPs in French is as in (51).
(51) Head combinations and PRPs in French:
[Polygree, X +] can only be realized by oui.

a
b. [Polyeyerses 2 —] can only be realized by non.
29

o

[Polygree, X —] can be realized by non or oui.

&

[Polyeyerse, 2 +] canberealized by si or clause-peripheral non (Sub-puzzle 1).

4.6 Covert X insertion as a last resort

Ovalle and Guerzoni (2004), Zeijlstra (2008) and Falaug and Nicolae (2016) assume
that a covert negation can be inserted in a high projection only when part of the structure
has been elided (52).

(52) Condition on covert negation (Falaus and Nicolae 2016)
A covert negative operator can only surface if the vP is not spelled out.

This assumption correctly captures an asymmetry in the interpretation of an N-word
in full sentences versus fragments in Romanian. The full sentence in (53) can have the
negative concord reading, whereas the double negative reading is not possible.

(53) Nimeni nu a venit. (Romanian)
nobody not has come
Negative Concord: ‘Nobody came.’
s«Double Negation: ‘Everybody came.’

29. All my consultants accept clause-peripheral oui to realize this combination, but the judgments are less
uniform for bare oui. I here ignore this variation and focus on speakers who accept bare oui to convey
agreement with a question nucleus in which negation is not outscoped by a quantificational operator. See
footnote 9 for a possible explanation in terms of Roelofsen and Farkas’ (2015) scales of realizational need.
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Interestingly, if the same N-word is used as a fragment answer to a negative wh-
question, as in (54), the double negation reading becomes available.

(54) A:Cine nu a venit?
who not has come
‘Who didn’t come?’
B: Nimeni.
nobody
Negative Concord: ‘Nobody came.’
Double Negation: ‘Everybody came.’

Assuming that N-word fragment answers are derived via ellipsis from an underlying
structure like (53), Faldus and Nicolae (2016) analyze the double negation reading in
(54) as arising from the insertion of negation high in the structure. Crucially, the double
negation reading is not available in (53), because covert negation can only be inserted
when VP is elided.

I follow Féldug and Nicolae (2016) in assuming that covert X' — insertion is limited
to elliptical constructions. In fact, I further extend this assumption to X'+. We will
see that covert X' insertion only being available when the prejacent is elided explains
Sub-puzzle 2. It is not the case that covert X' insertion is freely available. If it were, we
would expect unaccented bare non to be able to convey reversal in examples like (55).
But it crucially does not: bare unaccented non can only convey agreement in (55).

(55) A:Est -ce que Jean n’ est pas arrivé ?
is it that Jean NEG is NEG arrived
‘Has Jean not arrived?’
B1: Je crois que non.
I believe that no
Agreement: ‘I think that Jean has not arrived.’
xReversal: ‘I think that Jean has arrived.’
B2: Je crois que non, Jean n’ est pas arrivé.
I believe that no  Jean NEG is NEG arrived
Agreement: ‘I think that Jean has not arrived.’
xReversal: ‘I think that Jean has arrived.’

I contend that insertion of covert X' is a last resort “rescue mechanism” limited to
elliptical constructions, as stated in (56).

(56)  Condition on covert X:
A covert X' can only be inserted if:
(i) the VP is not spelled out;
(i1) not inserting it would result in an uninterpretable structure.
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5 Analysis

Let me list the core pieces of my analysis:

(57) a. Iscovert X inserted?
Covert X' can only be inserted as a last resort to rescue a structure which
would otherwise be uninterpretable.

b. What ¥ head moves to Pol?
Either covert X' or X from the prejacent moves to Pol.

¢c.  Which Pol head is used?
Either Polygree OF POlcyerse can be used, provided its presupposition is
licensed.

d. Isellipsis licensed?
Ellipsis of the prejacent is licensed only if it is e-given with respect to some
constituent in the preceding discourse initiative.

I present my analysis of the main puzzle in two steps: first, I cover bare non; then
I consider clause-peripheral non, in the process explaining Sub-puzzles 1 and 2.

5.1 Bare non
5.1.1 Basic cases

In response to a question nucleus whose highest truth-conditional operator is negation,
a non-response has the structure in (58b): the X'-head moves to Pol, which is valued
for the ‘agree’ feature. The presupposition of Pol,g ¢ is met since [PolP] is equivalent
to its (PolP) antecedent [TP] in the question. The Pol head is spelled out as non, as
per the morpho-phonological rules in Sect. 4.5. The prejacent/TP in the response can
be elided since the identity condition on ellipsis is met: the TP complement of Pol
is e-given with respect to the VP constituent in the question, the ellipsis antecedent
(remember that only the highest copy of X' is interpreted).

(58) Negative question, ‘non’-answer, agreement

A: Est-ce que Marie n’a pas fini du tout ? ‘Did Marie not finish at all?’
B: Je crois que non. ‘I think that she didn’t.”

a. LFof A:[Q[rp[ ¥— [vp Marie; afinidutout]]]]

[PolP antecedent] = [ [rp [ ¥ — [v p Marie; a fini du tout ] ] ] | =—Marie
didn’t finish at all

[Ellipsis antecedent] = [y p Marie; a fini ]]=Marie finished
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b. LF of (58B):

N

The same non-response to a positive question like (59) is always reversing. The X'-
head in the prejacent moves to Pol and is interpreted there. The reversal presupposition
is met since [PolP] is equivalent to the negation of [TP] in the question. Ellipsis is
possible since TP in the response is e-given with respect to TP or VP in the ellipsis
antecedent (only the highest copy of X' is interpreted).

(59) Positive question, ‘non’-answer
A: Est-ce que Marie a fini ? ‘Did Marie finish?’
B: Je crois que non. ‘I think that she she didn’t.’

a. LFof A:[Q[rp [ X+ [vp Marie; afini]]]]
[TP]=Marie finished

b. LF of (59B):

[PolP]=—(Marie finished)
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If in (59B) Pol,g,e. had been merged instead of Pol,.,, the agree presupposition
would not have been met since [PolP|=—Marie finished and the PolP antecedent
[TP] =Marie finished.

5.1.2 Quantificational operators outscoping negation

We have talked about the possibility of inserting covert X under ellipsis, and now we
are going to see the effect of this assumption. In response to the question in (60A), I
claim that bare non must have the underlying structure in (60b). To see this, consider
the alternative underlying structure in (60a), in which the prejacent is identical to the
PolP antecedent before the polarity head X'— has moved to Pol (Polygre. 01 Poley):
X — is interpreted in Pol but the effect of this is that neither the agreement nor the
reversal presupposition are met. Moreover, no constituent in the ellipsis antecedent is
e-given. The only way to meet the reversal Pol head presupposition is to leave X — in
its base-generated position and, as a rescue strategy, to insert covert negation, which
then agrees with and moves to Pol, as in (60 b). In this case, the Pol,.., presupposition
is met since [PolP]=[—TP].>* The Pol head is spelled out as non, as per the morpho-
phonological rules in Sect. 4.5. The TP in the response can be elided since the identity
condition on ellipsis is met: TP is e-given with respect to the TP constituent in the
question.

(60) Negative question, ‘non’-answer, ellipsis:

A: Est-ce que [7p quelqu’un n’a pas fini du tout | ? ‘Did someone not finish at
all?’
[TP]=3x. —(x has finished)

B: Je crois que non. ‘I think that everyone has.’

a. Infelicitous LF: neither agreement nor reversal presupposition is met.

PolP PolP
/\ /\
Pol,¢y TP Pol,gr TP
N N
Polﬁﬂi— quelqu'un TP Polﬁ— quelqu'un TP
/N /N
T XP T Xp
/N\ /N\
Xi— VP Xi— VP
VAN AN
a fini a fini
[PolP]= —(3x. x has finished) [PolP]= —(3x. x has finished)

30. The reader may wonder whether the underlying structure of the bare-non-response in (60) could be the
structure corresponding to Non, tout le monde a fini ‘No, everyone has finished’. The answer is no. For a
discussion of this structure, see Sect. 5.2.3.
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b. Felicitous LF

PolP

Pol/\

rev

SN T

POlreU E,‘ - CN,'

[PolP]= —(3x. — x has finished)

Another example of a quantificational operator forcing reversal non is (62), where
negation is interpreted in the scope of the focus-sensitive operator seul ‘only’. In (62),
the adverb seul ‘only’ associates with the focussed argument Marie. I assume, follow-
ing Rooth (1992)/Horn (1996), that seul ‘only’ contributes universal quantification
and has the meaning in (61).

(61) [seule Marie]= AP.P(Marie) & VxcALT(Marie): P(x) — x = Marie
(Biiring and Hartmann 2001, p. 248)

Here again, a non-response cannot agree: if X' — moves to Pol, as in (62b), the
denotation of PolP is such that neither the presupposition of Pol,g .. nor that of Pol, .,
is met (62b). The only way to obtain a felicitous LF that will both satisfy AGREE with
Pol and the presupposition of at least one Pol head is to resort to covert X' insertion,
as in (62c), with X' then moving to Pol.

(62) Negative question, ‘non’-answer:

Context: Everybody’s gone from the table. All the plates are empty except one.

A: Est -ce que seule Marie n’ a pas fini son assiette ? ‘Did only Marie not finish
her plate?’

B: Je crois que non. ‘I think that it’s not the case that only Marie didn’t finish
her case.’
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a. LFofA:
[TP]=—Marie finished her plate & Vxe ALT(Marie): —x finished x’s plate
— X = Marie

b. Infelicitous LF of (62B): neither agreement nor reversal presupposition is

met.
PolP

/\

Pol,.¢y TP

AN

seule Marie T P

a fini son assiette

[PolP]= —[Marie finished her plate & Yxe ALT(Marie): x finished x’s plate
— X = Marie]

c. Felicitous LF

Pol,.y Xi— CN;

[PolP]=—[—Marie finished her plate & YxeALT(Marie): —x finished x’s
plate — x = Marie]
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The presupposition of Pol,., is met since [PolP] is equivalent to the negation of
[TP] in the question. The Pol head is spelled out as non, according to the morpho-
phonological rules in Sect. 4.5. The TP in the response can be elided since the identity
condition on ellipsis is met: TP is e-given with respect to the TP constituent in the
question.

The fact that non cannot convey agreement is explained in the current analy-
sis because interpreting sentential negation in Pol would change the scope relation
between the universal quantifier contributed by seul/ ‘only’, on the one hand, and
negation, on the other. This in turn would fail to satisfy either the agreement or the
reversal presupposition of the Pol head.

5.1.3 Neg-raising

Since I assume the pragmatic analysis of neg-raising in Bartsch (1973), the logical
form of (63B) has negation in the matrix clause. Via AGREE, X' — moves to Pol and is
interpreted there. The presupposition of Pol,g ¢, is met since [PolP] is equivalent to
the TP in the question after the excluded middle presupposition has been factored in.
The TP in the response can be elided since the identity condition on ellipsis is met:
TP is e-given with respect to the VP constituent in the question.

(63) Negative question, ‘non’-answer

A: Est -ce qu’ [rp elle ne [yp veut pas terminer son assiette du tout ] | ?
‘Does she not want to finish her plate at all?’
B: Je crois que non. ‘I think that she doesn’t.’

a. LF of (63B):
PolP

[PolP]=Vw’€BOUL,, pqarie — Marie finishes her plate in w’
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5.1.4 Non-quantificational operators outscoping negation

Recall that the aspectual adverb roujours ‘still” does not force the reversal reading of
non. I assume that foujours is the spell-out in French of an operator STILL. [ assume the
semantics in (64/65), following Ladusaw (1978, 1979), and Lobner (1989), as cited
in Krifka (2000).

(64) STILL(t, p)

a. asserts: p(t)
b. presupposes: I’ <t. p(t’)

(65) not STILL(t, p)

a. asserts: —p(t)
b. presupposes: I’ <t. —p(t’)

This is so because an operator like aspectual foujours ‘still” does not create a truth-
conditional ambiguity: whether it is interpreted below or above negation, the truth
conditions of the sentence that contains it do not change. Thus, when negation is
interpreted high, as a result of movement of X — to Pol, the presupposition of Pol;g /e
is met. Take the example in (66). When the ¥ — moves to Pol and is interpreted above
STILL, the resulting truth conditions are not changed, and thus the presupposition of
Polygree is met.

(66) Negative question with aspectual adverb, ‘non’-answer

A: Est -ce qu’elle n’a toujours rien mangé ? ‘Has she still not eaten anything?’
B: Je crois que non. ‘I think that she hasn’t.’

a. LFof A:[Q[STILL [ X- [ elle amangérien]]] ]
[TP]=—3x. she ate x

b. LF of (66B)
PolP

Pol, gree

G -

Polygree Xi— STILL

[PolP]=—3x. she ate x
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The TP in the response can be elided since the identity condition on ellipsis is met:
TP is e-given with respect to the VP constituent in the question.!

5.2 Clause-peripheral non
5.2.1 Basic cases

Let’s start with the cases where negation is the highest scope-bearing operator in the
PolP antecedent and clause-peripheral non can convey agreement or reversal. In (67),
the non response agrees with the PolP antecedent: the X'-head moves to Pol, which
is valued for the ‘agree’ feature. The presupposition of Polsg,. is met, since [PolP]
is equivalent to [TP] in the question. The Pol head is spelled out as non, as per the
morpho-phonological rules in Sect. 4.5, and the lower copy of X — is pronounced as
ne.

(67) Negative question, ‘non’-answer, agreement

A: Est-ce que Marie n’a pas fini du tout ? ‘Did Marie not finish at all?’
B: Je crois que non, elle n’a pas fini. ‘I think that she didn’t.’

a. LFofA:[Q[rp[ X — [vp Marie; afinidutout]]]]
[TP]=—Marie didn’t finish at all

b. LF of (67B):
PolP

a fini du tout
[PolP]=—Marie finished at all

31. Effectively, this claims that the only reason the operator STILL is present in the response is to satisfy
the presupposition of Polggree. There is evidence that ellipsis by itself indeed does not require the operator
to be present in the elided constituent. Thus in (i.a), the only interpretation possible is one where the
elided constituent after voulu does not contain toujours: as (i.b,c) show, the aspectual adverb foujours is not
compatible with jamais ‘never’.

(i) a. Marie veut toujours venir mais Jean n’a jamais voulu venir. ‘Marie still wants to come but Jean never
wanted to come.’

b*Jean n’a jamais voulu toujours venir. ‘[Intended:] Jean never still wanted to come.’

c. Jean n’a jamais voulu venir. ‘Jean never wanted to come.’
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In the rest of this section, we examine clause-peripheral non-responses to negative
questions, covering Sub-puzzles 1 and 2. These are repeated in (68).

(68) a. Sub-puzzle 1: Why can’t bare non convey reversal in response to a negative
question?

[6/7] A:Est- ce que Marie n° a pas aimé ce livre ?
is it that Marie NEG has NEG liked this book
‘Did Marie not like this book?’
B1: Je crois que non. = agreement / *reversal
I believe that no
‘I believe that she didn’t like it.’
B2: Je crois que non, elle I’ a aimé. = *agreement / reversal
I believe that no  she it has liked
‘I believe that she liked it.’

b.  Sub-puzzle 2: Why does the reverse reading of bare non disappear when
the prejacent is spelled out as in (B2) below?

[26] A:Est- ce que quelqu’'un n° a pas encore été recu  ?
is it that someone NEG has NEG yet been received
‘Has someone not been received yet?’

B1: Je crois que non. = *agreement / reversal
I believe that no
‘I think that everyone has been received.’

B2: Je crois que non, quelqu'un n” a pas encore été
I believe that no someone NEG has NEG yet been
recu.
received
Intended: ‘I think that everyone has been received.” =
*agreement / *reversal

5.2.2 Sub-puzzle 1

In (68), the non-response conveys reversal: the X head moves to Pol, which is valued
for the ‘reverse’ feature. The presupposition of Pol,., is met since [PolP] is equivalent
to the negation of [TP] in the question. The Pol head is spelled out as non, as per the
morpho-phonological rules in Sect. 4.5.32

(68) Negative question, ‘non’-answer, reversal

A: Est-ce que Marie n’a pas fini du tout ? ‘Did Marie not finish at all?’
B: Je crois que non, elle a fini. ‘I think that she did.’

32. It could also be spelled out as si according to these rules.
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a. LFof A:[Q[rp[ ¥— [vp Marie; afinidutout]]]]
[TP]=—Marie finished

b. LF of (68B):
PolP

Pol,¢y

Pol,., X+ Marie
T 2P

i+ VP

VAN

a fini

[PolP]=Marie finished

Remember that we saw in (7) that a bare non-response is not able to reverse the
negative PolP antecedent in (68A). Why? Given that I have assumed that bare PRPs
are derived from clause-peripheral PRPs via ellipsis, then in (68b) the TP prejacent in
the response in (68B) is e-given with respect to VP in the ellipsis antecedent, ellipsis of
the TP prejacent is licensed, and bare (reversal) non should be acceptable. I would like
to propose that the reason bare non cannot reverse a PolP antecedent whose highest
scope-bearing operator is negation has nothing to do with the grammar of PRPs per se.
The problem has to do with ambiguity. Indeed, in the analysis I propose, in response
to (68A) Je crois que non can correspond to two underlying structures: the underlying
structure with Pol,., in (69a) and the underlying structure with Polg/. in (69b).

(69) Two underlying structures for non in response to (68A)

a. LF of reversal non

[PolP]|=Marie finished
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b. LF of agreement non

,,,,,,,,,,,,,,,

[PolP]=Marie has not finished

If, as my analysis suggests, grammar allows for the generation of both these
structures, why is ellipsis not allowed for the one corresponding to reversal non in
(692)? I suggest that the answer to this question has to do with ambiguity avoidance:
bare non is ambiguous between the two underlying structures in (68), whereas bare
si corresponds to one structure only. In fact, as soon as the reply je crois que non
in (68b) is disambiguated, it becomes an acceptable way to convey reversal. Means
of disambiguation include contrastive intonation and phrases rejecting the agreement
reading, as in (70).

(70)  Negative question, bare- ‘non’ answer, reversal with disambiguation

A: Est-ce que Marie n’a pas fini du tout ? ‘Did Marie not finish at all?’
B: Je crois que NON ! Regarde ! Tout est propre ! ‘I think she DID ! Look !
Everything is clean !’

Furthermore, the inability of bare non to reverse a negative antecedent could also
have to do with a preference to realize X — with non and [Pol,.,, X' +] with si, as
argued in Roelofsen and Farkas (2015).

5.2.3 Sub-puzzle 2

Recall that Sub-puzzle 2 has to do with the shape of the prejacent that is allowed with
reversal non. Consider the question/response pairs in (71).

(71) A:Est- ce que quelqu’un n’ aime pas mon gateau ?
is it that someone NEG like NEG my cake

‘Does someone not like my cake?’

@ Springer



296 J. Pasquereau

B1: Je crois que non, tout le monde aime ton giteau ! ‘I think that everybody
likes your cake !’

B2: Je crois que non ! ‘I think that everybody likes your cake !’

Given that according to my analysis, bare non is derived from clause-peripheral non
via ellipsis of the prejacent, we might expect the bare non-response in (71B2) to have
the same structure as the clause-peripheral non-response in (71B1), as shown in (72).

(72) Negative question, ‘non’-answer, no ellipsis

Je crois que non, tout le monde aime ton gateau !
a. [TPin (71A)]=3x—. x likes my cake
b. LFof (71B1):

PolP
Pol, .y TP
Pol,., X+; toutle monde TP

[PolP]=Vx. x likes my cake t; ton giteau

But in fact my analysis predicts that (72b) can be the structure of clause-peripheral
non in (71B1) but not that of bare non in (71B2) because such a structure cannot be
elided: [TP] in (72b) is not e-given with respect to any constituent in the question.
Therefore, under the assumptions that I have been defending: the LF of the bare non
response must be as in (73), i.e. covert X has been inserted and has moved to Pol. The
reversal presupposition is met since PolP is equivalent to the negation of [TP] in the
question, and ellipsis is licensed since TP in the response is e-given with respect to
TP in the question.

(73) Negative question, ‘non’-answer, ellipsis

a. [TPin (71A)]=3x—. x likes my cake
b. LF of (71B2):
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PolP

[PolP]=—3x—. x likes my cake = Vx. x likes my cake

Thus the explanation for Sub-puzzle 2 is a consequence of the interaction of con-
ditions on the insertion of covert X and on ellipsis.

5.3 Summary

The analysis I have presented captures the main puzzle this paper started out with.
When a quantifying expression outscopes negation in the PolP antecedent of non, non
must reverse it; otherwise it agrees with it. This falls out of the interaction between a
requirement imposed by PRPs/Pol heads—which impose a scope conservation require-
ment effected via their presuppositional requirement for identity/reversal—and the
obligatory movement of X to Pol, which can sometimes be fulfilled by inserting a
covert Y. Sub-puzzle 1 is a consequence of non spelling out different Pol heads, thus
creating ambiguity in response to a negative question—an ambiguity that leaves one
possible meaning disfavored. Sub-puzzle 2 is the result of the interaction of the identity
requirement on ellipsis and the conditions on covert X' insertion.

6 Extensions and ramifications
6.1 Purported cases of low negation in English

Holmberg (2013) notes that in response to the example in (74), a no-response cannot
agree; instead, yes must be used to convey that meaning.

(74)  Did John purposely not dress up for this occasion?
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He and other authors (Thoms 2012) take this to be an indication that the negation
in this and similar examples—where not appears to the right of an adverb—is a case
of low negation. However, note that such data follow from my account, and that I do
not need to postulate that sentential negation occupies different heights depending on
whether it is in the scope of another operator or not. While (74) might indeed be a
case of low negation, there is reason to wonder whether this is actually so, given that
the corresponding assertion would be (75).

(75)  John purposely did not dress up for this occasion.

6.2 N-word responses to negative wh-questions

Consider (76): in response to the negative wh-question, a full response containing the
N-word personne ‘no one’ (only) means that ‘no one came’. However, if the answer
is a fragment containing just the N-word personne, the meaning of that response can

only be ‘everybody came’.3?

(76) A: Quin’est pas venu ? LF: Q 3x—(x has arrived)
B1: Personne n’est venu = ‘No one came.” —(3x. X has arrived)

B2: Personne. = ‘Everyone came.’

Since responses to wh-questions are not polar (i.e., acceptable answers to (76) are
Jean, Marie, ...), they are not headed by Pol. I assume that N-words are existentials
that must appear in the scope of negation (see Ovalle and Guerzoni 2004, among
others) and that wh-words are also existentials, which move to the specifier of a Q
head (Karttunen 1977) in questions. Thus the LF of the question in (76) is as in (77).

(77 QP

Q P
hoi VP
est venu

33. Note that this pattern is different from what is reported in Espinal and Tubau (2016) for Spanish and in
Félaus and Nicolae (2016) for their sample of languages. It seems French differs from these languages in not
allowing N-word fragments to be ambiguous. Further research is needed to find out where that difference
comes from.
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The idea is thus that the non-elided response in (76) has the LF in (78), where the
existential subject has reconstructed, i.e. its lower copy is interpreted.

(78) TP

DP P

N

personne; X- VP

personne; est venu

In the case of ellipsis, reconstruction is not available: if it were, there would be
no constituent in the LF of the response that satisfies the identity requirement with
a constituent in the antecedent. But if the existential subject does not reconstruct,
then the licensing condition on N-words—that they should be interpreted in the scope
of negation—is not met. Following Zeijlstra (2008) and Fildus and Nicolae (2016),
I assume that a covert X'-operator can be inserted to save the structure. The LF is
therefore as in (79).

(719)
a. . -/\TP
/\
DP 2P
/\

personne; X- VP

personne; est venu

b. [XP]=—3x—.x came

The overt structure in (78) cannot have this reading, because CN cannot be inserted
unless there is ellipsis.

6.3 On the interpretation of indefinite quantifiers and PRPs
6.3.1 Specific versus quantified interpretation of indefinites
In the examples with quelqu’un above, quelqu’un was interpreted as a true (non-

referential) quantifier. However, the context can be such that quelqu’un is interpreted
referentially/specifically, as in (80). In this case, a non-response can convey agreement.
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(80) Context: A mother and a father are talking and staring at their young son,
Casimir, just before having lunch.

A:Est -ce que quelqu’un ne s’ est pas lavé les mains de la matinée ?
is it that someone NEG REFL is NEG washed the hands of the morning

‘Has someone not washed his hands this morning?’
B: Je crois bien que non, (quelqu’un ne s’est pas lavé les mains de la matinée).

‘I think that someone has not.’

In fact this is similar to how a non-response to a negative question containing the
determiner un certain—which is specific—must be interpreted.

(81)  Context: as in (80).

A: Est-ce qu’ un certain petit gar¢con ne s’est pas lavé les mains de la matinée ?
‘Has a certain little boy not washed his hands this morning?’

B: Je crois bien que non, (un certain petit garcon ne s’est pas lavé les mains de
la matinée).

That indefinites can have a referential or quantificational use is well known. Much
research has been done on this topic and several analyses have been proposed (Fodor
and Sag 1982; Abusch 1994; Farkas 1997; Reinhart 1997; Kratzer 1998; Schwarzschild
2002; Brasoveanu and Farkas 2011; among many others). The first analysis was given
in Fodor and Sag (1982), where it was argued that indefinite phrases are ambiguous
between quantifying expressions and referential expressions. Applying this analysis
to French quelqu’un ‘someone’, we find that non-referential quelqu ’un has quantifica-
tional force whereas specific quelqu’un does not. As a result, specific quelgu’un does
not participate in scope ambiguity with negation. For instance, in the non-response
in (80), X' — moves to Pol and is interpreted above specific quelqu’un, but the truth
conditions remain the same as if it had been interpreted below.

Since Fodor and Sag (1982), several competing analyses have been proposed. How-
ever, the specifics of these analyses do not matter for the purposes of this paper, which
is concerned with the effect of the specificity of e.g. quelqu’un ‘someone’ on the
interpretation of non. In order to show how this effect interacts with the analysis pro-
posed here, I use Kratzer’s (1998) implementation. In Kratzer (1998) indefinites are
ambiguous between a quantificational and a specific interpretation. The latter is ana-
lyzed as a pronominal element denoting a choice function, i.e. a free variable f (over
functions) whose value is provided by the context. Because these variables do not get
existentially closed, they do not give rise to truth-conditional ambiguities. Following
Kratzer (1998), I assume the following denotation for specific quelqu’un:

(82) [quelqu’un]=f(one)

In (82), the contextually determined value for the variable f is a function that takes
a property as its argument, in this case the set of contextually relevant humans, and
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returns an individual with that property, in this case Casimir. Thus we can model the
LF and truth conditions of (80/81) as in (83).

(83) Negative question with specific indefinite, ‘non’-answer

Context: as in (80).
A: Est-ce que quelqu’un ne s’est pas lavé les mains de la matinée ?

B: Je crois bien que non, (quelqu’un ne s’est pas lavé les mains de la matinée).
a. [TPin (82A)]=—Casimir washed his hands
b. LFof (82B):

PolP
/\
Polygree TP
/\
Polaé\x—i quelqu’un; TP
/\
T Xp
‘ /\
s’est > —; VP

t; lavé les mains
[PolP]=—Casimir washed his hands

Thus in examples where quelqu’un is interpreted specifically, the indefinite receives
a unique, specific interpretation and is thus insensitive to the scope of negation.
Whether negation is interpreted low or high, it yields the same truth conditions, which
satisfies the presupposition of Pol,g;.

Table 1 Sample of data in Brasoveanu et al. (2013)

Subject NP Example

Referential The composer didn’t use the chorus very often.

Some Some of the hostages were not hearing the news in Iraq.

At most At most six volunteers did not sign up for free housing.

Exactly Exactly two of the chimps did not make any mistakes in carrying out the final task.
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6.3.2 On the data in Brasoveanu et al. (2013)

Brasoveanu et al. (2013) tested whether English speakers preferred to use yes or no
to agree with a negative assertion. They used four types of negative assertions as
antecedents, which varied in the type of NP used as subject, as summarized in Table 1.

Interestingly, they found that in agreeing responses to negative assertions, like
(84B1/2), all non-referential NP types contribute statistically-significant preferences
for the yes particle, whereas both yes and no can be used when the subject is a referential
NP.3* This effect is predicted by the analysis I defended above (whereas it is not in
any existing theory of PRPs).

(84) Negative assertion with ‘at most’ subject, ‘agree’ response

A: At most six volunteers did not sign up for free housing.
B1: Yes, at most six of them didn’t.
B2: No, at most six of them didn’t.

Brasoveanu et al. (2013, p. 7) note though that “... when the stimulus is negative
and the subject NP is at most n or exactly n, there is a preference for yes, while a
negative stimulus with a some subject NP exhibits no particular preference for either
yes and no.” I would like to propose that a possible cause of the difference is that
some participants interpreted the indefinite some subjects specifically while others
interpreted them as non-referential expressions. Given that unambiguously referential
subject NPs triggered mostly no-responses and given that non-referential subject NPs
triggered mostly yes, one might expect that the ambiguity of an expression (between
a referential and a non-referential interpretation) might therefore be reflected in the
neutralization of the divergent preferences, which is what the authors report.

7 Outstanding issues
7.1 Non versus si

Compare (85) and (86). Although in both examples the antecedents have clausal nega-
tion, si cannot be used to reverse the antecedent in (85).

(85) A:Est-ce que quelqu’un n’est pas venu ? ‘Did someone not show up?’
B: Non / *si, tout le monde est venu ! ‘No, everyone showed up!’

(86) A: Est-ce que Marie n’est pas venue ? ‘Did Marie not show up?’
B: Non / si, elle est venue ! ‘No, Marie showed up!’

My account does not predict that si is not possible in (85). Karagjosova (2006)
already points out that doch in German is not good when negation has narrow scope.
Neither her nor my account explain why.

34. They note, however, that there is a strong preference for no.
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7.2 Focussed DPs

In this section, I look at negative polar questions containing focussed DPs and how
and why non-responses to them are interpreted the way they are. Crucially, the type of
focus I am considering is contrastive focus, also known as identificational focus (Kiss
1998), and not information focus (which does not give rise to the pattern I describe).

Note first that the realization of contrastive focus in French can be syntactic,
resulting in so-called cleft constructions. In response to the cleft question in (87),
a non-response can only convey reversal.

87) Context: Everybody has left the table. All the plates are empty except one.

A: Est -ce que ¢’ est Marie qui n” a pas fini  son assiette ? cleft
is it that it is Marie who NEG has NEG finished her plate

‘Is it Marie who has not finished her plate?’

B: Je crois que non. (—1)

I believe that no
‘I think that it’s not Marie who didn’t finish her plate.’

One could point out that this follows from the positive polarity of the cleft itself.?

But abstracting away from the syntactic complexity of the cleft construction, the same
effect can be achieved by focussing the argument without cleaving it: here again, a
non-response must be reversing.

(88) Context: Everybody’s gone from the table. All the plates are empty except one.

A:Est -ce que MARIEn’ a pasfini  son assiette ? (Marie—?)
is it that Marie NEG has NEG finished her plate
subject focus

‘Has MARIE not finished her plate?’

B:Je crois que non. (—|)

I believe that no
‘I think that it’s not Marie who didn’t finish her plate.’

35. After all, if the cleft itself is negative, then non can convey agreement. Compare (i) and (i).
(i) A:Est -ce que ce n” est pas du tout vrai que Marie a fini son assiette ?
is it that it NEG is NEG at all true that Marie has finished her plate

‘Is it not Marie who finished her plate?’

B:Je crois que non.
I believe that no
‘I think that it’s not true.’

(i) A:Est -ce que ¢’ est vrai que Marie n” a pas fini son assiette du tout ?

is it that it is true that Marie NEG has NEG finished her plate at all
‘Is it true that Marie has not finished her plate at all?’

B:Je crois que non.
I believe that no

‘I think that it’s not true that Marie has not finished her plate at all.”
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So what is going on? After all, it is well known that focus has no effect on truth
conditions. It is possible that focussed DPs in the examples above involve a silent only
operator, but I leave this for further research.

8 Conclusion

In this paper, I have discussed a new pattern of data involving the interpretation of the
PRP non in European French. [ have proposed a new analysis of their syntax and seman-
tics that not only predicts the interaction of PRPs with scope-bearing operators that
can create truth-conditional ambiguities, but also predicts a number of related patterns,
such as the interpretation of fragment N-word responses to negative wh-questions or
the interaction of fragment adverbs with quantifiers (Pasquereau, to appear). In doing
so, I have also shown that a number of observations in the literature (low negation in
English described by Holmberg 2013, data in Brasoveanu et al. 2013) are explained—
in fact predicted—by the analysis defended in this paper.
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